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leole A _
‘Problem 2 B or &

An insurance representative has appointments with four prospective clients tomorrow. From pést experience

she knows that the probability of making a sale on any appointment is 1 in 5 or 0.20. Use the rules of

probablhty to determine the likelihood that she will sell a policy to 3 of the 4 prospective clients. v

Fedt NS = Nosale ps = =2 = - ¥
S = Zale “‘f‘?’; - . 2

TF ACH. =5 (FiaLS W ] ]

Locatios of N5 | order o€ ﬂ@@w“ fy of
Gceyprtncl | @Z*f".ﬁr:w&mﬁ’

RN =

Problem 3

Now let’s use formula [6-3] for the binomial d
istribution to compute the probability that the sal
representative in Problem 2 will sell a policy to exactly 3 out of the 4 prospective clients. Y ®

/- {(n-7)" .
X\ > m%*"} oy (ﬁ@qg\}(v ¥) = L0296

Trvle o (s
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Problem 4
I In Problems 2 and 3 the probability of 3 sales resulting from 4 Binomial Probability
- appointments was computed using both the rules of addition and Distribution
multiplication and the binomial formula. A more convenient way of n=4 7=0.20
g arriving at the probabilities for 0, 1, 2, 3, or 4 sales out of 4 appointments Number of
is to refer to a binomial table. We use the binomial table to determine the | Successes (x) | Probability
probabilities for all possible outcomes. 0 0.410
~ 1 0.410
2 0.154
3 0.026
4 0.002
*1.002
*Slight discrepancy due to
rounding
162/
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Problem 5

Use the information regardin i i
g the insurance representative, where n =
I El . ? n - 4 =
probability tha} the representative sells more than two policies. Also determi an?h 10 Cf)mpute e
D tamber of pofieyholdors me the mean and variance of the

F{X 7 ﬁ? - . 02T

Exercise 6.3

Check your answers against those in the ANSWER section.

Labor negotiators estimate that 30 percent of all major contract negotiations result in a strike. During the
next year, 12 major contracts must be negotiated. Determine the following probabilities using Appendix A:
a. nomajor strikes  b. atleast5 ¢. between 2 and 4 (that is 2, 3, or 4).

M of - <5

(Rl

h= L
io) = rovh
N §' ) \§ - éw”gf‘f% %ﬂ}
(\x7=9) .
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Exercise 6.2
Check your answers against those in the ANSWER section.

It is known that 60 percent of all registered voters in the 42™ Congressional District are Republicans.
Three registered voters are selected at random from the district. Compute the probability that exactly 2 of
the 3 selected are Republicans, using:

a. The rules of probability  b. The binomial formula. <. fa @ {@






